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CC TRIGONOMETRY

SECTION 1.2 - Right Triangle

Trigonometry

Objectives:

®* Use right triangles to evaluate

trigonometric functions
® Find function values for 30°, 45°, and 60°
®* Recognize and use fundamental identities
®* Use equal cofunctions of complements
®* Use a calculator to solve trig functions

®* Solve applied problems



The six trigonometric functions are:

sine
—

secant




sing — length of side opposite angle& _a

Length of the

length of hypotenuse c hypotenuse B

s length of side adjacent to angled _ b A SR
- length of hypotenuse ¢ ._

b C

length of side opposite angled¢  a

tan9 - ———— = Length of the side adjacent to &
length of side adjacent to angleé ¢ 5

In general, the trigonometric functions
of 8 depend only on the size of angle
@ and not on the size of the triangle.




_ lengthof hypotenuse ¢
length of side opposite angled a Leagth of the

hypotenuse

CSC =

B

seco=_lengthofhypotenuse ¢ |
length of side adjacent to angle¢ b Ar
A .

Iength Of Side OPPOSite anglee a Length of the side adjacent to #

In general, the trigonometric functions

of 6 depend only on the size of angle
6 and not on the size of the triangle.

Length of the
side opposite #
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Reciprocal Identities

sind = 1 cscé’:_i
csc sind

cosl = 1 secd =
secd cosd

tant’i—’?:L c:::att'i?=L
cotd tand

Quotient Identities

tang — siné cotd cosé

cosd sin@

Pythagorean ldentities

sin0+cos°9=1 1+tan’0=sec’d 1+cot’d=csc’d




The value of a trigonometric function of 6 is equal to the

cofunction of the complement of 8. Cofunctions of
complementary angles are equal.

sin@ = cos(90°-0) cosd =sin(90°-60)
tan@ = cot(90°-0) cotd =tan(90°-6)
secd =csc(90°-6) csc & =sec(90°-6)




An angle formed by a horizontal line and the line of sight to
an object that is above the horizontal line is called the angle
of elevation. The angle formed by the horizontal line and
the line of sight to an object that is below the horizontal line
Is called the angle of depression.
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The irregular blue shape in the figure represents a lake. The
distance across the lake, a, is unknown. To find this

distance, a surveyor took the measurements shown in the
figure. What is the distance across the lake?
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180° = 7 0° = 0 radians

360° =27
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